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1999 4F 6 A RZEFRIENHE
RAERGHER

Part I Listening Comprehension

Section A

Directions: In this section, you will hear 10 short conversations. At the end of each conversation, a
question will be asked about what was said . Both the conversations and the questions will be
spoken only once . Afier each question there will be a pause . During the pause , you must read
the four choices marked A, B, C and D, and decide which is the best answer. Then mark
the corresponding letter on the Answer Sheet with a single line through the centre .

Example: You will hear:

You will read : A. At the office.
B. In the waiting room.
C. At the airport.
D. In a restaurant.
From the conversation we know that the two were talking about some work they had to finish in
the evening . This is most likely to have taken place at the office . Therefore ,“A. At the office”
is the best answer . You should choose[ A ]on the Answer Sheet and mark it with a single line
through the centre .
Sample Answer [A-] [B] [C] [D]
1. A. The woman feels sorry for the man.
B. The man is a member of the staff.
C. The area is for passengers only.
D. The woman is asking the man to leave.
D ¥, FMEE:“RINNAXNEF T #2472 “You are not supposed to be here. (17 F
BAERXE) " WEALERRED AL E . X+ EF+EA., XEFHKNRE L, T UH
% A B, AR4E“This area is for the airport staff only” — 47, F # & B.C % H,
2. A. Clean her house while she is away.
B. Buy her some plants and take care of them.
C. Water her plants while she is away.
D. Water her plants when he is not at work.
C #¥M, MER:“FLe AL EHHA7 X +H “WRAZ —LE, RFERFKE
 BBRBADTE LR CRLR S, MRRE RS R EHREL B THRE CHANE
RER, EATAERE T HARRE,



. A. He will only be available in the afiernoon.

B. It’s not his office hour.

C. He doesn’t have time.

D. He is too tired after class.

C BYHE, FER“IHLARLEKBZAELHLELBN A LIREFRRHEZNL

ANEBBRBERE R E T HER T #:“Yes, of course.”{8 5 } X 3311 : “But Pm sorry 1

have a class at ten.” & B R H L B 3% A o [8] B A o4 [F) L, BT COL KRR, — R E R

BHEMbut ERAK, BB CRAAYEHRLE,

. A. The woman insists on going out.

B. The woman doesn’t like watching TV.

C. The man promised her a gift on her birthday.

D. The man is too tired to go out.

A BETE, FERCKRNAAET THREAMGLAY AXEF T, FLFREN, RN

AMFAREREEER, KN “Fd) RENTR, TABEF R HELREELE

REBRER, “GREENEE , KL AFERH L HRBHRATAEALERE,

. A. There are too many courses offered to students.

B. The woman should take fewer courses next term.

C. The man will take four courses next semester.

D. It is wiser to take more than four courses.

B #THE, MER . “FIHEEMETAEY, kL RETEHES TRE, FLRKN

X, HATTRARENED? BERBEFNHAXRTHRENRI, W R4 TREBRAL,

FrA BRIAERER,

. A. Ask Tom to send an invitation,

B. Get the Johnson’s address.

C. Invite Tom to the party.

D. Tell Tom to pick up the Johnson’s. ‘

B HWiH, MER:“AL{TEFTHAV R I REEARR - RES MRS, EX D]

WA, FrUA ] B £ R Bl T, AT BRI Y ERER,

. A. Jane is looking for a summer job.

B. Jane is packing for the summer vacation.

C. Jane is on her way home.

D. Jane is eager to go home for the vacation.

D #EM, FER: kW ERTEMAATE LN HRTEAREFEREERY X

TEHEAR BEREF LEINEFALERE, AEA YRR E2EERE R, hsbo

DRAEREE

. A. Spending more time on sightseeing.

B. Visiting the city with a group.

C. Touring the city on a fine day.

D. Taking the man with her on the tour.

A BEAE, AR “FLEUTHAY X LBEEAHEBEL - TR, FL+T Lz
—_— 2 JR—



10.

WA AFE—RHEARYVEERE, B RS LEHEBRE - THRT FFUARY
ERER

The woman is driving too fast.

The woman is driving at a slow speed.

The woman has broken a traffic rule.

. The woman has parked her car in a wrong place.

B, FEREKRNMAAEF TR AT B LR XREETHE, FRAE LB
LY b P AR, REEREFALER  BFRELEET, BT CHANERE

She can tell Joan when she sees her at noon.

. She should tell Joan’s brother about the reception.

. She must call on Joan after the reception.

. She may see Joan’s brother at lunch.

BUH, FHERE“FIHFERFALAV L LRERTLBRELWE, F L9 F
BT, FREFL A EERW, AREFERFTLERR T, ELEH R L.
MAFUAERER

>c:nw>m4g.ocp.w_>

Section B
Directions: In this section, you will hear 3 short passages. At the end of each passage, you will hear

some questions . Both the passages and the questions will be spoken only once . After you hear
a question , you must choose the best answer from the four choices marked A, B, Cand D.
Then. mark the corresponding letter on the Answer Sheet with a single line through the centre .

Passage One
Questions 11 to 13 are based on the passage you have just heard.

1.

12.

13.

A. To protect persons and property.

B. To collect taxes.

C. To teach and train citizens.

D. To save natural fesources for future use.

A EY¥HE, MEL B ARRNETERFTRAML AT E X Z : The chief duty of every gov-
emment is to protect persons and property. (B NBFH L ER K REFARFYMF)U A
RHERER .

A. By selling services that make life comfortable.

. By selling land containing oil .

By selling public lands.

. By selling coal and other natural products.

mY B, FBEE:“UNKFOMEER A7 MR X Years ago the government made
money from the sale of public lands. (JLF 8], R F B L HEAF LHRER)AUCHAE
RER

A. Environmental pollution and protection.

B. Taxes and services for the public.

oo oW



C. Police efforts to protect people.

D. People’s attitude toward taxes.

B EM, FEE “XELTERNNRAATXEFLRF - RNERALEHLEKRS, 2
RURASFELR, BNERLANRIFRFEAN dTHRET, B A R S0 x
AREATHMW, TREXEH PO, FIUBRAEHLE,

Passage Two
Questions 14 to 17 are based on the passage you have just heard.

14.

15.

16.

17.

A. He didn’t like physics any more.

B. His eyesight was too poor.

C. Physics was too hard for him.

D. He had to work to support himself.

D @M, FIERE AN 245 LHFFEWE?Y XF H 21 wanted to stay on there and do
research, but my father died at about that time. So I thought I’d better get a job and earn my living.
(RERAENERFAR,EME R FLH, BAGBRRIEREIFTUD RN ERER,
A. He was not happy with the new director.

He was not qualified to be an engineer.

He wanted to travel.

He found his job boring.

WA, FAE N4 BN TANFBHIE?" X ¥4 2 : But then, they appointed a
new managing director. I didn’t get on with him, so I resigned. . . ({E 2 {14 & 7 — (L FT 84 &
GF, R G WA T FOARBRT ) ¥ dido't get on 5T A ' was not happy 1
BXME. ILATNEREER, '

A. He wanted to work with his friend.

He enjoyed traveling around the world.

> 9 0w

He wanted to go to Spain.

. He was rejected by the engineering firm.

M, FAE N H 25 LEZTTRERHITHE? X FRE: And I've always liked
Spain, so L took it. (A A RMEREHET , IUNBEXTERAITH)BRERMECHAEEH
T UL CHAERER,

A. He enjoyed teaching English.

cseor

He wanted to earn more to support his family.

The owner of the school promised him a good position.

. He could eam more as a teacher than as a travel agent.

W, MEE AN A B L ABRUREEEVABEERTER X P EHERE ]
wasn’t earning enough to support the family. So I started giving English lessons at a school in the
evening. (A RBWERABERRA, UL S EFXRBHFAERR ) U B AN EH
BRo

UJUQCU



Passage three
Questions 18 to 20 are based on the passage you have just heard.

18.

19.

20.

A. Tt can be cooked in many ways.

B. It is delicious but inexpensive.

C. It gives higher yields than other grain crops.

D. It grows easily in various conditions.

D #MHE, FAZ:AENTLEXREERAKE T ATHRR?” X F R EZ : They grew
it on cold mountainsides and in tropical forests. ( A 17 Z % B L Fo kW R E X)) R
MERTARE, EXRPREK, AT EETFFTAUNEXR £, Bl D JAERE
o EmABE AR

A. Fried potatoes. B. Tomato juice. C. Sweet comn. D. Chocolate beans.

D ¥, FEE "FRFAEAF —AKTHEETH LAV ABLERTERE XFEER
2| :On his second trip, Columbus brought back a few chocolate beans. . . (% = X%k K AT Bt -6 4F
WETARAE )L DRAEHRER,

A. They led to the discovery of America.

B. They made native American foods popular.

C. They brought great wealth to Spain.

D. They made native American life styles well-known.

B #UTAE, FIERE“HRAARIAEMNKATNLEREF AT FRANHLRTHFE
TEREAE R EXRFTH A Eo X ¥ %GR 2 : Thanks to native American culture, many
people are able to enjoy a lot of tasty food. (% 5 7 EMW ML , FFAF R EBAEH X
KR E )M BRAERLE,

ik <7 g D SC

Section A

1.

W: Excuse me, Sir. You are not supposed to be here. This area is for the airport staff only.
: I'm sorry, I didn’t note the sign.

: What do we learn from the conversation?

: If I buy some plants for the house, will you water them for me while I'm away?

: Sure I will, if you water mine while I am on vacation.

: What will the man do for the woman?

: Excuse me, Professor Hill. May I ask you a few questions?

=280 =2=0=

: Yes, of course. But P'm sorry I have a class at ten. Why don’t you come in my office hours.
That is 4 to 5 p.m. on Monday, Tuesday and Friday.
Q: Why can’t Professor Hill answer her question now?

. M: I don’t feel like going out. Why don’t we just stay home and watch TV instead?

W: Come on! You promised to take me out for dinner and to the theatre on my birthday.
_ 5 R



Q: What do we leafn from the conversation?
: I'm thinking of taking five courses next semester.
: Wouldn’t four be wiser?
What does the than mean?
: I want to ask the Johnsons’ to come to the party. Do you know their address?
: No, But I like them to éome. I think Tom can give you their address.
: What is the womah going to do?
: Is Jane looking fotward to going home for the summer?
: She is counting the days.
: What does the woman imply?
: I think I will take the half-day tour of the city.
: Why not the whole day?
What does the man suggest?
: This is one-way street. Didn’t you see the sign?
: Sorry, I didn’t.
: What do we learn from the conversation?
10. W: I ought to call Joari, and tell her about the reception this evening.
: Why bother? You will see her at lunch.

Q: What does the man mean?
Section B
Passage One

We use all sort of services without thinking how we get them. But such services cost money. We pay

EE0E20OREE0 R E0OREOE 4

for them through taxes. What would happen if everyone in a city stopped paying taxes? The water supply
would stop. The streets might not be cleaned. There would be no police force to protect people and prop-
erty.

The chief duty of every government is to protect persons and property. More than three-fourths of the
money spent by our government is used for this purpose. The next largest amount of public money goes to
teach and train our citizens. Billions of dollars each year are spent on schools and libraries. Public money
is used to pay the teachers and other public officials.

Years ago the government made money from the sale of public lands. But most of the best public
lands have now been sold. The money raised was used to help pay the cost of govemment. There are still
some public lands that contain oil, coal, gas, and other natural products. They could be sold, but we
want to save them for future years. So we all must pay our share for the services that make our lives com-
fortable .

Questions 11 to 13 are based on the passage you have just heard.
11. What’s the chief duty of every government?

12. How did the government raise money in the past?

13. What is the passage mainly about?



Passage Two

When I was at school, my ambition was to be a pilot in the Air Force. But my eyesight wasn’t good
enough. So I had to give up the idea. I went to university and studied physics. I wanted to stay on there
and do research, but my father died at about that time. So I thought I'd better get a job and eamn my liv-
ing. 1 started working in an engineering firm.

I expected to stay in that job for a long time. But then, they appointed a new managing director. |
didn’t get on with him, so I resigned and applied for a job with another engineering company. I would
certainly have accepted the job if they had offered it to me, but on my way to the interview I met a friend
who was working for a travel agency. He offered me a job in Spain. And I've always liked Spain, so I
took it.

I worked in the travel agency for two years and then they wanted to send me to South America. But
I had just got married. So I decided to stay here. Then we had a baby and I wasn’t eaming enough to
support the family. So I started giving English lessons at a school in the evening.

I liked the English teaching more than working for the travel agency, and then the owner of the
school offered me a full-time job as a teacher. So I resigned from the agency. Two years later, the owner
of the school wanted to retire, so he asked me to take over as the director. And here I am.

Questions 14 to 17 are based on the passage you have just heard.
14. Why did the man give up studying physics?

15. Why did the man resign from the engineering firm?

16. Why did the man take the job at the travel agency?

17. Why did the man start to teach English part-time?

Passage Three

Columbus sailed from Spain in September 1492, looking for gold. Native Americans greeted him,
offering gifts of corn. Columbus found little gold on that trip, but he collected many plants, including
corn, to bring back to Spain.

Columbus didn’t know it. But the corn was much more valuable than gold. Farmers from Europe to
Asia accepted it immediately. They grew it on cold mountainsides and in tropical forests. Today it feeds
millions of people all over the world.

On his second trip, Columbus brought back a few chocolate beans to make chocolate. FEuropeans
and Asians love this new drink, and soon they were paying a great deal of money for the beans. Chocolate
beans became so valuable in Central America that they were used as cash for 200 years.

Tomatoes and potatoes took some time to become popular. Eventually, however, they became the
basis of a lot of popular foods. It is hard to imagine life without fried potatoes or chocolate. Thanks to na-
tive American culture, many people are able to enjoy a lot of tasty food.

Questions 18 to 20 are based on the passage you have just heard.
18. Why is com feeding millions of people today? '
19. What did Columbus bring back on his second trip?

20. What was the result of Columbus’ two trips to America?

, _



Part II Reading Comprehension

Directions: There are 4 passages in this part . Each passage is followed by some questions or unfinished

: statements . For each of them there are four choices marked A, B, C and D. You should de-
cide on the best choice and mark the corresponding letter on the Answer Sheet with a single line
through the centre .

Passage One

The biggest safety threat facing airlines today may not be a terrorist with a gun, but the man with the
portable computer in business class. In the last 15 years, pilots have reported well over 100 incidents that
could have been caused by electromagnetic interference. The source of this interference remains uncon-
fimed, but increasingly, experts are pointing the blame at portable electronic devices such as portable
computers, radio and cassette players and mobile telephones.

RTCA, an organization which advises the aviation (fi%¥) industry, has recommended that all air-
lines ban ($%51k) such devices from being used during “critical” stages of flight, particularly take-off and
landing. Some experts have gone further, calling for a total ban during all flights. Currently, rules on us-
ing these devices are left up to individual airlines. And although some airlines prohibit passengers from
using such equipment duﬁng take-off and landing, most are reluctant to enforce a total ban, given that
many passengers want to work during flights.

The difficulty is predicting how electromagnetic fields might affect an aircraft’s computers. Experts
know that portable devices emit radiation which affects those wavelengths which aircraft use for navigation
and communication. But, because they have not been able to reproduce these effects in a laboratory, they
have no way of knowing whether the interference might be dangerous or not.

The fact that aircraft may be vulnerable (532 #1#J) to interference raises the risk that terrorists
may use radio systems in order to damage navigation equipment. As worrying, though, is the passenger
who can’t hear the instructions to turn off his radio because the music’s too loud.

21. The passage is mainly about

A. a new regulation for all airlines

B. the defects of electronic devices

C. a possible cause of aircraft crashes

D. effective safety measures for air flight

C X8M. XEFXAHNZHAH, AAMELQATEANRAL LRI E T EEH Y

BAT TEASMEFFREMHA, TONNALIEA B TR TSN LR

FRENTREERZRLR, FTU CHY 4,

22. What is said about the over 100 aircraft incidents in the past 15 years?

A. They may have been caused by the damage to the radio systems.

B. They may have taken place during take-off and landing.

U 8 P



23.

25.

C. They were proved to have been caused by the passengers’ portable computers.

D. They were suspected to have resulted from electromagnetic interference.

D #H¥ A, RIEXESF — B % — 4 :In the last 15 years, pilots have reported well over 100 in-
cidents that could have been caused by electromagnetic interference. (- THE RN TR
HIR)TRED AN EREE,

Few airlines want to impose a total ban on their passengers using electronic devices because

. they don’t believe there is such a danger as radio interference
. the harmful effect of electromagnetic interference is yet to be proved
. most passengers refuse to take a plane which bans the use of radio and cassette players
. they have other effective safety measures to fall back on
BH A, RIEXFEE — B KH M A 2 4 : The source of this interference remains uncon-
firmed, .. . (XFTRFEGRHAE )T UHRB B HEH,

W o Ow >

. Why is it difficult to predict the possible effects of electromagnetic fields on an airplane’s computers?

. Because it is extremely dangerous to conduct such research on an airplane.

Because it remains a mystery what wavelengths are liable to be interfered with.

Because research scientists have not been able to produce the same effects in labs.

Because experts lack adequate equipment to do such research.

MY, R¥EF = BB G —4 :But, because they have not been able to reproduce these ef-
fects in the laboratory, they have no way of knowing whether the interference might be dangerous or
not. (N EZEXLBEZEERAIMER, IULEEIRTFRET S HAR, )F)?L/L CH
AERER,

It can be inferred from the passage that the author

A. is in favor of prohibiting passengers’ use of electronic devices completely

cvows

B. has overestimated the danger of electromagnetic interference

C. hasn’t formed his own opinion on this problem

D. regards it as unreasonable to exercise a total ban during flight

A BWHE, 2XARAEERHE AFTRNE, ZRIRE, RIEXEH L : The largest safety
threat facing airlines today may not be a terrorist with a gun, but the man with the portable computer
in business class. A & X # & J§ — B JF 3k 4] : The fact that aircraft. . . raises the risk that terrorists
may use radio systems in order to damage navigation equipment. ¥ A & HEH A H A A F . H
A B,

Passage Two

The rise of multinational corporations (¥ E/\H]), global marketing, new communications techno-

logies, and shrinking cultural differences have led to an unparalleled increase in global public relations or

PR.

Surprisingly, since modern PR was largely an American invention, the U.S. leadership in public

relations is being threatened by PR efforts in other countries. Ten years ago, for example, the world’s top

_9_



five public relations agencies were American-owned. In 1991, only one was. The British in particular are
becoming more sophisticated and creative. A recent survey found that more than half of all British com-
panies include PR as part of their corporate (/A H]#J) planning activities, compared to about one-third of
U.S. companies. It may not be long before London replaces New York as the capital of PR.

Why is America lagging behind in the global PR race? Firstly, Americans as a whole tend to be fair-
ly provincial and take more of an interest in local affairs. Knowledge of world geography, for examplé,
has ‘never been strong in this country. Secondly, Americans lag behind their European and Asian counter-
parts (FEXF AN ) in knowing a second language. Less than 5 percent of Burson-Marshall’s U.S. em-
ployees know two languages. Ogilvy and Mather has about the same percentage. Conversely, some Euro-
pean firms have half or more of their employees fluent in a second language. Finally, people involved in
PR abroad tend to keep a closer eye on international affairs. In the financial PR area, for instance, most
Americans read the Wall Street Jounal. Overseas, their counterparts read the Journal as well as the Fi-
nancial Times of London and the Economist, publications not often read in this country,

Perhaps the PR industry might take a lesson from Ted Tumner of CNN (Cable News Network) . Tum-
er recently announced that the word “foreign” would no longer be used on CNN news broadecasts. Accord-
ing to Turner, global communications have made the nations of the world so interdependant that there is
no longer any such thing as foreign.

26. According to the passage, U.S. leadership in public relations is being threatened because of

. an unparalleled increase in the number of public relations companies.
shrinking cultural differences and new communications technologies.

the decreasing number of multinational corporations in the U.S.

Do w e

. increased efforts of other countries in public relations.
D #@¥% M, REXEEZ _BRF — AW E4:... the U.S. leadership in public relations is be-
ing threatened by PR efforts in other countries. (+++--- EEAEANEXRTHARHAE N L4
ERENEXRTEHTEEATZE M) BB DR ERER,

27. London could soon replace New York as the center of PR because
A. British companies are more ambitious than U.S. companies
B. British companies place more importance on PR than U.S. companies
C. British companies are heavily involved in planning activities
D. four of the world’s top public relations agencies are British —owned
B w¥ M., MIEEXEE B &G W4 :A recent survey found that more than half of all British
companies include PR as part of their corporate planning activities, compared to about one-third of
U.S. companies. It may not be long before London replaces New York as the capital of PR. CE 41
BRYEHER,

28. The word “provincial” (Line 2, Para. 3) most probably means “ .
A. limited in outlook B. like people from the provinces
C. rigid in thinking D. interested in world financial affairs
A FWRXE, ZREAAEE=ZBE -4, RETFTHA TR A:. ., take more of an



interest in local affairs. (- ZEA R SHWFHRE X)W BFZMMy, WEAER
THF FTUT U Z AR A W ERERNEL _
29. We leam from the third paragraph that employees in the American PR industry .

. speak at least one foreign language fluently
. are ignorant about world geography

. enjoy reading a great variety of English business publications

BEE, ZEARANTRATEKRE BH. EREXEF Z BF = 4 : Knowledge of
world geography, for example, has never been strong in this country. X #. % B A 8 1 F 4. 3 WA
B, FARRMN A RUE - K, FIAZRRARZ, FZBERE, XEHERA
WAL, THR AT WEREE, RE(ERER), XER D, HLBH CHAIERE
&
30. What lesson might the PR industry take from Ted Tumer of CNN?
. American PR companies should be more intemationally-minded.
The American PR industry should develop global communications technologies.

A
B
C. are not as sophisticated as their European counterparis
D
C

People working in PR should be more fluent in foreign languages.

. People involved in PR should avoid using the word “foreign” .

WY, REXFERF—B:CNN B R -5 4%, “the word ‘foreign’ would no longer be
used on CNN news broadcast.” & B R R RN AU WE A E, RABANERAL, TILE
WERIRAREEN. K AREH, DAARIRHERTFHEE,

>0 0w

Passage Three

Brazil has become one of the developing world’s great successes at reducing population growth—but
more by accident than design. While countries such as India have made joint efforts to reduce birth rates,
Brazil has had better result without really trying, says George Martine at Harvard.

Brazil’s population growth rate has dropped from 2.99% a year between 1951 and 1960 to 1.93% a
year between 1981 and 1990, and Brazilian women now have only 2.7 children on average. Martine says
this figure may have fallen still further since 1990, an achievement that makes it the envy of many other
Third World countries. Martine puts it down to, among other things, soap operas (B EL ML ESER])
and installment (43 #4¥ 3X) plans introduced in the 1970s. Both played an imporiant, although in-
direct, role in lowering the birth rate. Brazil is one of the world’s biggest producers of soap operas. Glo-
bo, Brazl’s most popular television network, shows three hours of soaps six nights a week, while three
others show at least one hour a night. Most soaps are based on wealthy characters living the high life in
big cities.

“Although they have never really tried to work in a message towards the problems of reproduction,
they deseribe middle and upper class values—not many children, different attitudes towards sex, women
working,” says Martine. “They sent this image to all parts of Brazil and made people conscious of other
patterns of behavior and other values, which were put into a very attractive package.”

Meanwhile, the installment plans tried to encourage the poor to become consumers. “This led to an



enormous change in consumption patterns and consumption was incompatible (ANFHZEf) with unlimited

reproduction.” says Martine.

31.

32.

33.

3s.

According to the passage, Brazil has cut back its population growth
A. by educating its citizens B. by careful family planning
C. by developing TV programs D. by chance

D ¥ M, REXFEFF XA E+4:. .. but more by accident than design. (E 7 1% A T &
RAES G RBRET T ZR I F W )by accident 5 by chance & B AHE, AT D HIE
Ho

According to the passage, many Third World countries

. haven’t attached much importance to birth control

. would soon join Brazil in controlling their birth rate

. haven’t yet found an effective measure to control their population

. neglected the role of TV plays in family planning

C WM, XEF-BE_ARADESERTEREXAEARRI B AR, TR,
ART. EXF_BE AT RACHNEAD “BERAFSE-HREAREE N
2, TRLBRAX,DREX KRS, % — &% — 4% 4% 2| Brazil has had better result. . .
(EEHREFL - )RAR WM FRERRARAARN TR REMA T, FUCHA
ERER,

o O®w >

The phrase “puts it down to” (Line 4, Para. 2) is closest in meaning to "
A. attributes it to B. finds it a reason for
C. sums it up as D. compares it to

A ERE, ARNELE RECHAURKEN TR, CEEEN BRELR 54
HRR AN YRERMEENX R, WRR RN E LR RIKTEBAR
WEKENTH, dBRFARNERES,

. Soap operas have helped in lowering Brazil’s birth rate because

A. they keep people sitting long hours watching TV

B. they have gradually changed people’s way of life

C. people are drawn to their attractive package

D. they popularize birth control measures

B HBIM. RIEXHEF WY EE Martine #, REXLPEENREETFHA 0 %2,
CNMARBETH LERAWARENREN—P AZ T, BEHBINA, BLEST
o BEERGRERLEE  ERANBH AR ERT I —REEF R AEN, XA
EEFRAERAFUNBRARI S B THRE B REH,

What is Martine’s conclusion about Brazil’s population growth?

A. The increase in birth rate will promote consumption.
B. The desire for consumption helps to reduce birth rate.
. Consumption patterns and reproduction pattemns are contradictory.
. A country’s production is limited by its population growth.
BEE. XERE-BRAMBHAHIINEBFARNEES THEEERNAD
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